far = AT R ET T Bl i 2 AN A

i =

(B4 5]« AARND )

64 1A K H BIUAE
HT HK A0 (58) A (40) An GH
H #HT 492 406 393 799
AT 1,758 1, 657 1,789 3,446
JHET 976 896 832 1,728
== 1T 1,254 981 1,049 2,030
FFHT 1,967 1,823 1,912 3,735
JTHT 1, 656 1,698 1,843 3, 541
i 841 927 976 1,903
A AET 613 518 565 1,083
At ZEHT 892 855 886 1,741
BT 688 622 626 1,248
HAET1 T H 883 842 850 1,692
HARET2 TH 805 780 763 1,543
PEFTIR 1 T H 2,190 1,835 1,962 3,797
VEETIR 2 T H 968 869 913 1,782
FRET 1T H 1, 580 1,298 1,646 2,944
T2 TH 1,261 960 1,127 2,087
kAT 3 T H 1, 440 1, 428 1,526 2,954
T4 TH 2,894 2, 665 2, 890 5, 555
SRHET 946 898 957 1, 855
FRAEHT 1,194 1,143 1,232 2,375
EFIT1 TH 511 446 491 937
EJFET2 TH 775 835 795 1,630
KT 3 T H 736 719 703 1,422
EJFIT4 TH 213 213 203 416
EJFET5 TH 487 460 508 968
AL P IR BT 1,104 1,123 1,070 2,193
[ B AT 1,601 1, 656 1,795 3,451
FiEs 1,205 1,243 1,294 2,537
E1TH 426 463 497 960
EE 2 TH 640 745 750 1,495
tE3TH 474 532 521 1,053
EE4 T H 403 513 497 1,010
FAZENT 1,396 1,046 1,083 2,129
=L 721 692 729 1,421
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AFI64E1H K A BUE
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,025 823 1,015 1,838
ERNET 949 1,039 1,055 2, 094
KETHH 168 95 153 248
[icg gzl 874 917 878 1,795
HOHTHHT 1,002 1,073 1, 066 2,139
KFEHE 1,748 2, 034 2,006 4, 040
KFFRIL 1,524 1,528 1,591 3,119
Al - /N 6,151 6, 330 6, 334 12, 664
KT TNLEm 4,956 5, 409 5, 400 10, 809
KR EE 4,791 4, 561 4,631 9,192
WAL 949 794 831 1,625
[EREa 500 406 413 819
S 1,545 1,392 1,495 2,887
EoE1TH 547 541 509 1,050
BEo=2TH 717 650 654 1,304
KFEA K 4,788 5,007 5, 056 10, 063
KFEFIE 3, 409 3,621 3, 656 7,277
KFA 11,058 11,501 12,043 23, 544
K7 Eilin 2,011 2, 050 2,027 4,077
/INFFRET1 TH 2,631 2,317 2,702 5,019
/INFFRET2 TH 1,284 1,230 1, 197 2, 427
/INFFRET3 TH 2, 440 2, 202 2, 467 4, 669
/INFFRET4 TH 1,576 1, 490 1, 480 2,970
KEd s 1,061 1,156 1,137 2,293
KFEFE 2, 384 2, 554 2, 663 5,217
KFAH A A 719 613 709 1,322
== = 857 987 983 1,970
KFEdsit 78 111 90 201
1 T H 910 984 1,026 2,010
2 TH 986 1,093 1,117 2,210
B3 T H 876 780 896 1,676
B4 TH 675 689 791 1,480
w5 TH 790 788 869 1,657
KREWRZ T 320 307 323 630
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1641 H K HBIE
my 4 A AR (B AR (&) AR GH
KT 204 248 232 480
KPR 804 943 969 1,912
RF-H HH 141 176 176 352
KFBTH 155 190 164 354
KFHIH 16 20 19 39
KFFE A 460 546 494 1,040
Pl k1 TH 1, 050 1,011 1,133 2, 144
il E2TH 1,136 1, 142 1,195 2, 337
=M1 TH 940 994 1, 066 2, 060
M2 TH 351 319 383 702
3 TH 827 843 883 1,726
A TH 1,179 1,117 1,153 2,270
HRLAr 1 TR 1,651 1, 477 1,610 3,087
WL F2 TH 1,423 1,544 1,556 3,100
Bkl 3 TH 785 825 933 1,758
WL F4 T H 357 225 300 525
WL E5 T H 159 151 173 324
WL 6 TH 597 488 579 1,067
Pl 1 TH 1,095 1,115 1,089 2, 204
w2 TH 328 336 371 707
farE1TH 1,515 1, 441 1,403 2,844
My 2TH 691 723 745 1,468
M3 TH 849 818 834 1, 652
#1TH 276 345 300 645
H2TH 269 321 326 647
#3TH 1,394 1, 404 1, 456 2,860
= &1TH 362 435 401 836
= E2TH 188 220 222 442
= &3TH 290 356 339 695
=E4TH 428 485 454 939
—&5TH 670 705 696 1, 401
HEA 347 410 386 796
| 227 281 281 562
WA2TH 939 907 911 1,818
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641 A K HBIE
i) % A (59) AB (%) UNEGD)
WA3TH , 032 1,348 1,486 2, 834
WAR4TH 112 81 125 206
WA7TH 335 349 366 715
WA TH , 559 1,164 1, 396 2,560
FRER1ITH , 734 1,843 1,892 3,735
FRER2TH 948 1,013 983 1,996
1 TH 233 254 267 521
2 TH 487 595 630 1,225
It 3TH , 040 1,134 1,169 2,303
4 TH 60 80 70 150
e [ B 356 428 400 828
bR T 621 563 636 1,199
AT IR 597 17 731 1,448
WETIR1 T H , 477 1,462 1,308 2,770
WATIR 2 T H , 389 2, 648 2,439 5, 087
WRETIR 3 T H , 553 1,638 1,453 3,091
WATIR 4 T H 453 531 476 1,007
WAETIR5 T H 810 774 735 1,509
RPTRFIE 1 T B ,326 1,443 1,279 2,722
WHATRAIE 2 T H 336 1,374 1,321 2, 695
WHTRAIE 3 T H 863 948 877 1,825
<TDEHE1ITH 440 297 373 670
<TDEH2TH 722 666 600 1,266
<TDEHE3ITH 871 719 803 1,522
HER 1T H 146 151 138 289
TER2TH 410 523 502 1,025
HEm 3 T H 553 611 595 1,206
TER4TH 592 642 640 1,282
MMRE1TH 677 752 774 1,526
MMRE2TH 709 762 835 1,597
INFFRFE1TH 552 604 667 1,271
INFEFRFE 2 TH 545 568 613 1,181
INFfER 3T H 896 1,010 968 1,978
INFfER4 T H 798 977 962 1,939
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1641 H K HBIE
i) W A (59) AR (&) AR GH
INFHER 5 T H 559 756 683 1,439
/INFFERG 6 T H 605 594 625 1,219
/INFFEET 5 T H 586 601 595 1,196
WNFRRTET 1 T H 768 768 746 1,514
/WNFfRTET 2 T H 558 607 591 1,198
/NFFRTHT 3 T H 840 1,049 1,054 2,103
JEEFHHET 1 T H 91 106 116 222
LB 2 T H 26 36 21 57
¥ 1 TH 283 316 319 635
¥ 2 TH 155 184 184 368
¥ 3 TH 189 141 197 338
B 1 TH 97 122 121 243
kB2 TH 141 177 173 350
B3 TH 142 169 178 347
EFH1TH 831 820 819 1,639
E#FH2TH 1,257 1,381 1,335 2,716
EHFIE3ITH 1,396 1, 552 1,556 3,108
EHFI4TH 1,340 1,437 1,565 3,002
EHFIESTH 1,715 1,920 1,947 3, 867
INEEE 883 968 966 1,934



















